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4.

‘What is a common substance found in solid drain cleaner?

6.

Which acid has the strongest conjugate base?

A. Na
A. H,0
B. HCI 2572
C. NaCl B. H,CO,
D. NaOH =
C. HCO,
Al =
= D. HC,0,
m. i Al
i B.2
C.3
5 ; D.4
Which of the following best describes a weak base?
7.
Wa % lonization Which equation represents the reaction of a Brgnsted-Lowry base with water?
A ] T low A. 2Na + 2H,0 — 2NaOH + H,
B. N,H, +H,0 2 N,H," + OH~
B. very small high - ﬁ SO R
C. HPO,” + H,0 2 H,0* + PO,
C. very large low
D. H,C,0, +H,0 2 H,0' +HC,0,
D. very large high
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12. 14.
What is the equilibrium expression for the water ionization constant?

Given that the ionization of water is endothermic, which of the following is true if

A. K, =K, xK, temperature is decreased?
_ —14
B. K,=10x10 K. ——
C. K, = pH + pOH S e
A. decreases equilibrium shifts left
— + -

D. K, = _Hzmo H__HOE H_ B. decreases equilibrium shifts right
Al C. increases _ equilibrium shifts left
W W D. increases P equilibrium shifts right
D. 4

Al

13. B.2

What is the [ H,0" | in 100.0mL of 0.0050M NaOH ? .
— 15

A. 5.0x107"M .

At a given temperature a sample of pure water has a pH = 7.10.

B. 20x10°®M Which of the following is true?

—12 i

C. 20x10"M Sample Reason

D. 20x107"M

A acidic pH > 7.00
Al
B.2 B. basic pH > 7.00
C.3
D.4 C. neutral pOH < pH
D. neutral T.FOL = —OE;
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21.

When 25.0mL samples of the strong acid H,SO, were titrated with 0.25M NaOH the

following results were obtained:

Titration

Volume of NaOH(aq)

|

472 mL

2

39.9mL

3

40.1mL

What is the concentration of the H,50, sample?

A
B.
(&
D

oOow»
AW -

0.20M
0.21M
0.40M
0.42M




